K4 KWH Fth FiE 1Y1-)SRT

100m/I\2 754 57.53 094k
200mN\2T754 2:06. 40 09%k
50mE]RE 32.12 07Kk

Bt IFERERRCEVTLERD

nmkEAR #E FE

RHENRA 2~ 1011



E& XkH SR EfE 1YI-)SRT

50m&EkE 28.59 08#k
100mBEHRERE 55.62 09%k
200mBH 1:59.75 094k

Bt IFERERRCEVTLERD

nmkEAR #E FE

FHENRA 2~ 536



K4 H [EH FiE 1Y1-)SRT

200mnN\2 754 2:12. 64 094k
400mBHAEE 4:07. 86 104k
400mEANAFL— 4:37.42 10K

Bt IFERERRCEVTLERD

nmkEAR #E FE

ZHERA 2~ 1079



K®% BEFE #EM ERE  1Y1-)SRT

100mEHKE 1:17.27 094k
20 0mEKE 2:46. 64 084k
50mBHH 30.16 07Kk

Bt IFERERRCEVTLERD

nmkEAR #E FE

RHERA 2 42



Ed FH =X FIE._ 1YI1-)SRT
50mE]E 36. 79 08#Kk
100m¥EKRE 1:19. 30 084k
200mEANA FL— 2:43.02 07#k

Bt IFERERRCEVTLERD

nmkEAR #E FE

RHENRA 2 202



E® EiE #BX BB IYI-JSRIT
50mE]E 35.76 08#Kk
50mBEHFE 29.23 08#k

T

o¥

\l@”"*‘f‘\

> LY
3
F

ch

auji

%7:%7'—' (i*‘rnan fi% -
nafiflﬂ((:\f’ t é IE

&% 5 &
BIRBALIT9F
BREEE BE =
ZFERA k511

N

tﬁ%

ci



= |2 s EiE  1Y1-MSRT
50mE]E 36. 00 10%k
100m¥EKRE 1:15. 96 10#%
20 0mE]kE 2:40. 33 10#%

nmkEAR #E FE

FHENRA 2 603



E¥% H#HT ZHFH EEE  1Y1-)SRT

50mE]E 36. 96 09K
50mBEHFE 28.02 104k
100mBH®HE 1:00. 02 11#5%k

Bt IFERERRCEVTLERD

nmkEAR #E FE

RHENRA 2~ 532



K& M T EiE  IYI1-)SRT

100mEkE 1:16. 30 08k
50mBEHFE 30. 49 09%k
200mBH 2:27. 21 081k

Bt IFERERRCEVTLERD

nmkEAR #E FE

RHERA 2 510



3 B 4y FiE 1Y1-)SRT
50mBHH 32. 58 09K
100mBHAE 1:13.09 08#k
200mEANA FL— 3:03.02 07#k

Bt IFERERRCEVTLERD

nmkEAR #E FE

RHENRA 2 369



E& R EF EiE  IYI1-)SRT

50mE]E 39. 31 09K
100m¥EKRE 1:25. 84 094k
200mEANA FL— 2:45. 31 094k

Bt IFERERRCEVTLERD

nmkEAR #E FE

RHERA 2 480



E#% SBiREREFZFZT BB IYI-JSRIT

50m/\42 754 39.54 07Kk
50mBEHFE 34.84 08#k
200mEANA FL— 3:02.37 081k

o¥

\l@”"*‘f‘\

> LY
3
F

LED

auji

%7:%7'—' (i*‘rnan fi% -
nafiflﬂ((:\f’ t é IE

&% 5 &
BIRBALIT9F
BREEE BE =

RHERA 182

N

tﬁ%

ci






